A

E 0 & AHE & A A

20248 20ila LEHS| | A A E
SM AIAACH
Hu: ALZMQY A3
el d=212 MU |X EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AE AT 10,259,956 7,162,661 3,097,295
Jl 237,690
== 17,145
[Ea 10,005, 121
AR =AY S5 10,200,926 7,103,751 3,097,175
Jl 237,690
< 17,145
T 9,946,091
d=12 MU *X 2,506,300 2,708,800 A202,500
=M & =02l JHzl 2,506,300 2,708,800 A202,500
201 er23 | 268,800 389,300 A120,500
01 At2teltl 17,300 17,300 0
Odgt+==H| 6,500
—SEZX0PE E2=8 Y
25,0002 *60H 1,500
-dIlled8 Ri 222 7Y
2,500,000& x25+13] 5,000
O=seHl 1,920
¥ EEREEL
8,000 6 +40& 1,920
Ogxz 8,880
-2E =02 2z X2 G|
370,000 x2CH = 12& 8,880
03 A= SHI 251,500 372,000 120,500
ORMI712l 3.12018 S0 d=E2A0I2
CHal 40,000,000 *12] 40,000
Q2024 ZAEF0 DIAEIZE THE
2,000,000& %12 2,000
O2024 ZEFXE EH2E SHOHETHE
2,000,000213] 2,000
O2p4 2THTMH B2 - 0f BHROHSI(S2)
2,000,000& %12 2,000
O2024 BHFEIH 8= & - 0 BH=ELE 2+
B =2F3EJ| 4,000,000& *12] 4,000
O2024 ===t IHHISHE (2a, 92, &
ef) 3,000,000& %12 3,000
0204 LRQRE RAE &7 FAH
3,000,000& %12 3,000
OZ=Y dIEHE 2el2H (AW -2 AR
Z¥AL S) 25,000,000 * 14! 25,000
o224 8= =57 F7 SH HAEE
25,000,000 13 25,000
O2024 BEF A 8= SS181@ =+ HA
EIg 30,000,000& 12 30,000
02024 ZAET =S0l FAH 57 AEE
cl 7,000,000& *12] 7,000




S ALXAQIE
M ALIXALR EH3
el d=212 MU |X EER=E)
2 - IE
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
O2024 K5 Mete = (A,B)s+el
2,500,000 *13] 2,500
Q2024 ZEETH d= 228 =& =720
k=] 2,000,000 *13| 2,000
OHit5al & & = MEX=S &0
3 2,000,000 *12] 2,000
OHMI183] Z&IHXHH BHERIEH S
2,000,000 *13] 2,000
OHMI6al Metds el 2=
3,000,000 *13| 3,000
02024 2 & HAH &= AHOIESUHS
2,000,000&*12] 2,000
02024 MEZ(1000 Al - 2) 2 Dtee3X
CHal 2,000,000 *13] 2,000
Q2024 ZA=FZH &= =3
3,000,000 *12| 3,000
Q2024 8= MEH= HISERIE 3
8,000,000& *13l 8,000
ORMIZBal tHEEDI EE =d| 83
3l 30,000,000&*13] 30,000
OMNEl 2& HXH 8= AILIO - AW & -
O BH=*CH=l 2,000,000 *12| 2,000
02023 23 &= AES2|0 =&
45,000,000 14 45,000
O2024 ZXHEXE &= 3:3 212l s-UEl
5,000,000& 5,000
202 o4t 15,500 15,500
01 =LHO4 L] 15,500 15,500
Oox3 d=0z & S|
60,0003 x5 *102] 3,000
0= @204 2l =&
100,000& 5% x153] 7,500
Oox& M=s =
20,0003 x5 50 5,000
301 LEHBEF 7,000 10,000 A3,000
11 HARHIKIE S 7,000 10,000 A3,000
ON=IA2 Uz & = 2K BEO,
A3 s FA 140,000 *25F 23| 7,000
307 QI2HOl A 2,215,000 2,294,000 A79,000
04 CIZISHAIAIRIE X 2,215,000 2,294,000 279,000
OHMI713l 3.1&82014 S0 d=2E=2A0I12
CHal 105,000,000& *13] 105,000
Q2024 ZEE0 OtAHZE U3
10,000,000 %13 10,000
02024 ZXNHXHHH EHAH S SHOtE TS
30,000,000 13 30,000
02024 ZRHIE &= & - o tHRUE(BE)
50,000,000& *13l 50,000
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S - FB . G(BIH) - RAY - BAS ofl aro G o HDE2
Q2024 Metge 2LEM0 2[HS S (ZE,
ot AlIOH) 150,000,000 *13] 150,000
Q2024 ZRE SAE &3 xAA
40,000,000 %13] 40,000
O2024 8= =S8 =7 SH HAEY
150,000,000& *13] 150,000
Q2024 ZXH XY HHECIEH = - &5 - 1) AEE
2l 80,000,000& *13] 80,000
02024 ZRAFX &= SS1stE S5 HA
Elg =203 150,000,000 «13] 150,000
02024 ZEREI ==0] K449 372 AEE
2l 50,000,000& 50,000
O2024 Kol et S (A - B)=32l
25,000,000& *13] 25,000
OHMI53l ZXFHAH &= MExs EF2U3F
20,000,000 %13] 20,000
OHMI183| 2 &I AKX BHECIE T3
40,000,000& 13| 40,000
OHMesl MelgE =2 28l S=s2M
60,000,000& 13| 60,000
02024 M2 (1000 Al - 2)&& JtRE 3
CH3l 10,000,000 13| 10,000
Q2024 AA=&2H 8= 203
40,000,000& 13| 40,000
02024 M= MEH= BHESIE 3
50,000,000& 13| 50,000
OHNI3B3 HEg)| &= Y =d| A=A
3| 120,000,000 13| 120,000
OHMIbal ZXATI H=2 S35 2AXNE =
U3 15,000,000& *13] 15,000
OHMI21g8| ZXHAE = - T - DS =103
35,000,000& *13] 35,000
ON105g d=2HMN S MEHE 2™ Of
Z(1D - st=) 15,000,000 *13] 15,000
Q2024 Meted XA =208
30,000,000 *x13] 30,000
Q2024 =22 = - olHl &X&EH KX(=EF,
H ,9E B2 S AllY,Q 2 E=2)
400,000,000 13| 400,000
O%AE 252 S £ - o} ANSH =8|
70,000,000 %13] 70,000
Odlel dX&Egd KXl K&
30,000,000 *x13] 30,000
02024 ZREX &Hetede S50 @23
20,000,000& *13] 20,000
02024 2428 =& =203
10,000,000 13| 10,000
Q2024 2= &5 AEH| O =X
250,000,000 14! 250,000
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el d=212 MU |X EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O2024 BEHXHY H= &0 AILIOT &5 i
THE 30,000,000& x13] 30,000
OMNzl dtg=XADF Id2E28UE
10,000,000& *12] 10,000
O2024 ZEFXH &= 3:3 2Hel s72U=
120,000,000 *13] 120,000
e EME =4 1,121,637 1,063,915 67,722
s sUR |4 20,500 20,500 0
308 AHXIEMSOIH 20,500 20,500 0
08 W=J|20CHe 22 20,500 20,500 0
OMs=aUR 84 20,500
-LASAESSW(ZA, Hi7)
5,000,000 5,000
-CYESEN(+4) 3,000,000& 3,000
YHSESSAD(BE, IA)
3,000,000& 3,000
-~S8Y 50 (FA) 3,500,000& 3,500
“MEESS W (HERIE) 2,000,000& 2,000
-AHASE N (HHERQIE, E202)
2,000,000& 2,000
-d=AEME 2834 N&
2,000,000 2,000
a8 =54 1,101,137 1,033,415 67,722
301 EetE2 N = 1,101,137 1,033,415 67,722
Rzt - 2SEsS2Y=S 1,101,137 1,033,415 67,722
OAIOI2& 2= 2121H] 558,077
-KIEXHRXI) 1]
74,869,000 1 74,869
-4 Q12| 60,401,000 ~8& 483,208
OAOIEd = 4UE2E8 s
10,000,000 * 12042 120,000
OAOIZ2d = XS 15,000,000 x2& 30,000
OAOIZ2Z2= &A= 150,000,000 *1& 150,000
OAOIZ28 = Ustsil] 2x4E
4,000,000& =4 & ~2& 32,000
OISt (ZHIZHIAH 2
200, 0002 * 1 *502] 10,000
O&=lz &8 & =at|
10,000,000& «12& 120,000
OZJlE AdA & 2y FY
5,000,000& 52 25,000
OANOIZ2 &2F 7g 2,500,000 *32] 7,500
On=Hl 500,000& *10H 5,000
O&=U=zl &It =US
5,000,000 <22} 10,000
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e delEXE =4 (EEEE))
2 - IE
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
OALIOI2 EOIN R (HSE)
2,500,000 *33] 7,500
OAIZ26=E Xt FFHI
1,500 *2,0002| Ef2CH 6,000
OU3Ed LMEIAZ(HMIXUE ZE)
10,000,000 10,000
Olgl&d AHZ(E=HMA)
6,500,000 14 6,500
OAMOIZ2d = SEH] 1,560,000& *13] 1,560
OAOIZEEY SZ=H| 2,000,000 *13] 2,000
MEHs 2435t 1,906,268 1,742,883 163,385
| 237,690
= 17,145
= 1,651,433
2E=ZHE2 N& 598,684 565,700 32,984
301 LEHBNEF 10,000 10,000 0
14 JIEt2 43 10,000 10,000 0
OHMe2al detes M=0sl L ASHEM=
tHal du3 10,000,000 %13 10,000
307 QI2H0l A 588,684 555,700 32,984
02 QIRHHAAIHE X 16,000 57,000 241,000
OZAZH=Es A8/ 2SRAF =
50,0002 *10H * 163 8,000
OdasSXNENt SE -
400,000& 7 H 23| 5,600
OAN&EZRI0IUN S2S=ME(HEEIHI)
400,000 x3H 23| 2,400
03 QI HE2GHIEX 204,684 159,700 44,984
OZEZHM=S AIRXHE eld|
66,366,000& x 14 66,366
OZXZHM=S OIAHEUE olY|
55,318,000& 1 55,318
OZ&ZM=s 243 HaRX & s
25,000,000 * 14! 25,000
OZAZH=E3 AIR=H 2EU RIIEs
] 2,000,000« 1=+ 1001 = 20,000
OZ&ZHM=2 AR2d X3
38,000,000 14 38,000
04 CIZISHALAIRIE & 368,000 339,000 29,000
OHMe3sl detdEx=sis s
180,000,000 & * 13l 180,000
OFIMA L MIMEHSUER Hac
Ad 8,000,000 14 8,000
Ot EMsUE 2+ JAL|
30,000,000 13 30,000
OHMI3pe Metde MEXNsUsE &d
60,000,000 & *13l 60,000
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M AELXAY BHS)
Chel: MEBTIS 243
RA - I BRA(E) - HRA - BES of vy A
OHMI193] Mtk o2l MExs HEd
12,000,000 x13] 12,000
OZd=ZHF2 & A
11,000,000& %13 11,000
OZE ME=dAL € u=s S 20|
50,0003 x5& »202] 5,000
OZ&ZH=2 A2 & SSHA AIAS
6,000,000 «14! 6,000
5 HRAZ Og HEHHE 29
36,000,000 *14] 36,000
02024 222 M= it
20,000,000 *14{ 20,000
HEAUEZRIEX BHXI A 91,592 91,592
J| 45,7%6
[ia 45,79%6
307 el2tol & 91,592 91,52
Il 45,7%
o 45,79%
02 QItASAIEE X 91,592 91,592
OuZ24a & XIS BHXIAR
2,544,200 +3E* 1204 91,592
Il 45,7%
T 45,7%
MBS BHX] A 122,112 122,122
Il 61,056
[ia 61,056
307 212t01™ 122,112 122,122
Il 61,05
[Ea 61,056
02 QIS EX 122,112 122,122
OMEMSXI AL BHXIAH
2,544,000 4B+ 1204 122,112
Il 61,056
T 61,056
UBLMEHSXNEN N CESEES 1,120 0
J| 560
s 560
307 212t01™ 1,120 0
J| 560
Ea 560
02 QIS EX 1,120 0
OodaN=s=A=N Ncags 285 N
1,120,000 %14 1,120
Jl 560
o 560
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M ALIXALR EH3
Chel: MENs 2435t (SH9 H2)
2 - IE
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
MEHFAEA HHS XI2AAY 8,400 8,400 0
& 3,360
= 5,040
307 QI2Hol M 8,400 8,400 0
& 3,360
i 5,040
02 QIZHEAAHE X 8,400 8,400 0
QHEMSXEN MM X2 A
100,000 x7Hx 1201 2 8,400
= 3,360
= 5,040
AEMEHSUS KR 318,980 286,980 32,000
201 Let2| 5,480 5,480 0
01 Ar22eltl 480 480 0
O=gtl 480
-3 MEHSUH =X
8,000& x2Hx30 480
03 A2 G| 5,000 5,000 0
OME=sS0l tHal F&(37H B=HA)
5,000,000 » 14! 5,000
307 QI2H0| A 313,500 281,500 32,000
04 QIZISHAIAIRIE & 313,500 281,500 32,000
OAZ MSHEl 5 X
1,000,000&*223] 22,000
OAZ X0l 2SN (360) (21, =22l1,
21) 16,000,000 14 16,000
O0ld Mex=s 20 2 =4 M (4 =)
4,000,000& *43] 16,000
OueEH=s gdst K&
50,000,000& 14! 50,000
OMETE 283 AL XS (HHOI2S)
15,000,000 14 15,000
OZ0 M2 9988 U2 2AIE (U2
, It S) 10,000,000 & * 14! 10,000
02024 M= ZFXNECAYE 2
10,000,000& *13] 10,000
OHMI0gl Z& 2et 1002/2 MIB =S 2102l
6,000,000 * 14! 6,000
ON253| 282+t S50 S2US
6,000,000& *13l 6,000
OHM3g 2&ZE3IEI| SFU3
6,000,000 *13] 6,000
Q2024 FAHH ZA0E] 6,000,000& *13] 6,000
O2024 HEXHEH HSCHE] 6,000,000& *13] 6,000
OHMIgal Z&ZE2EI| Atslel OFIHEl
10,000,000& *13l 10,000
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Chel: MENs 2435t (SH9 H2)
S - B - S9I(E) - ARAY - B of v G o HIDE2
ORXi23s] ZRBR 22 S50I0H3]
4,000,000 *13] 4,000
ORI228] BT24I| B & ASIEH & - 0f
HH =2 CH S 8,000,000& 13! 8,000
O2024 BXB S50 & - O RS
5,000,000& *13] 5,000
O2024 I - 0f HELIE SSOIH3
7,000,000 *13] 7,000
O2024 2Tl AT HOIES SHOICH
2l 5,000,000& 13! 5,000
ORI243] T4 MBS HOIESHS
5,000,000& 13! 5,000
Omi203] ZR2ESIFI| HolEE E3200)
8l 5,000,000 *13] 5,000
02024 674 2 Ed HOIEZTHS
3,000,000 *12] 3,000
O2024 2T et SBEH3
6,000,000& 13! 6,000
02024 223 &b JQet2ESZUE
3,000,000& *13] 3,000
ORI243) LTFTH Fiet - B= BHILIAHS
6,000,000& 13! 6,000
ORNI283] 2T24bH MBS BHILIAHS
4,000,000&*13] 4,000
OMI198] BT MBS +A0H3
4,500,000 *13] 4,500
02024 EXHH =Z0H3S
20,000,000& 12 20,000
O2024 THRI 224012 SS2I0HS
7,000,000&*13] 7,000
O2024 2T ZEB T 20 S20H3|
3,000,000 *13] 3,000
02024 LTYA BEHF SHTHS
6,000,000& 13! 6,000
O2024 LTZEIT 2 SSOI0H3]
4,000,000&*13] 4,000
ONIM3l Jd 8 Az & 2E0H3
6,000,000 *13] 6,000
O2024 EXHHH &= ssi=l
4,000,000& 13! 4,000
O2024 ST L+E £ KIS0
5,000,000& *13] 5,000
O2024 2FZ B0IS 7S
5,000,000 13! 5,000
O2024 LTZEF T L7 SSOU0H3]
5,000,000& 13! 5,000
02024 2 2= ZHH 3:3 =7U3
4,000,000& *13] 4,000
o M=zl X 138,400 120,700 17,700




SN AERAQE
Hu: ALZMQY A3
Chel: MENs 2435t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 6,000 6,000
14 IIEt2 83 6,000 6,000
OXctd: JAMSU LAt Za=
6,000,000& *12] 6,000
307 @120l & 132,400 120,700 11,700
04 QIRHHAMAIH 2 £ 132,400 120,700 11,700
O3zl &g &oHe! M=tz ot
40,000,000& %12 40,000
O2024 HetdCHI M= &t
20,000,000&*13] 20,000
O2024 B&= AIZE0He! MEWal ot
4,000,000& *12] 4,000
OHM202l Metde AIZE0He! MEUal ot
4,000,000& *12] 4,000
OHM243] 82 =02l M=Hal &t
7,000,000& 12} 7,000
ORMl44e] 8= HOHIHFUH2 E8Ls XE
1,500,000& %12 1,500
02024 A2 =NE=F Z0He! MHa=Z0Hs &
It 2,000,000& %12 2,000
Od= XNMEO0He MIA==l &It
3,000,000& %12 3,000
OTR FOYI=ND 2L DY 2
5,000,000& *12] 5,000
02024 NHEOHe! 2EUal &t
15,000,000 x 12l 15,000
O2024 24& == EHXE
4,200,000 *12] 4,200
ORMI32el 8gHMIMFU s 2Y
HI(ZEH) 200,000& x50 10,000
OHMi3al &g XMEMAM=U &
4,200,000& 12 4,200
O2024 B&= Zoiel o= etite =
10,000,000& * 13l 10,000
OZ&Z F2, 20 FoHe! M=U=
2,500,000& %12 2,500
AHXIAHOIEH KNSAS 119,700 63,750 55,950
Jl 83,790
= 10,773
Ea 25,137
301 EtE2 N = 119,700 63,750 55,950
Jl 83,790
= 10,773
= 25,137
01 Al EE A ZS(2DEXMR) 119,700 63,750 55,950
OAR=AHO0ISH KA
95,0008 *1,260H 119,700
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 83,790
=S 10,773
s 25,137
U A ZAHO0IED AIBA 22,800 5,100 17,700
7l 15,960
= 2,052
o 4,788
301 Eet2 NS 22,800 5,100 17,700
Il 15,960
= 2,052
Ea 4,788
01 Al EE A S (2 RDEERA) 22,800 5,100 17,700
OZMAAL=ARO0ISH At
95,0002 +240H 22,800
Il 15,960
= 2,052
[Ea 4,788
YAAL=ZE X 63,200 116,100 /52,900
307 @120l & 63,200 116,100 /52,900
02 QB AANEE R 20,000 40,000 220,000
OFdAZXZY 24| X
20,000,000 *13] 20,000
03 M EE2SHIEX 43,200 76,100 /32,900
OANR=E 212 15,000
ekl 1,250,000 1+ 1200 & 15,000
OARZE (31H) 1A8] X 13,200
marals] 1,100,000« 1E* 1204 & 13,200
OAIRZZ (HF) Al XY (2HI50%) 15,000
-l 24| 1,100,000 «1H* 1200 & 13,200
-EANES 1,800,000 1 1,800
O MM =X MM 2,400 1,200 1,200
== 960
o 1,440
307 212+01& 2,400 1,200 1,200
< 960
T 1,440
02 LB HAHE L 2,400 1,200 1,200
OYMHAYEHNFA=A MM
100,000 «2Z* 1200 & 2,400
= 960
[Ea 1,440
oAU F A=A 1 218] 61,056 29,642 31,414
Il 30,528
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[Ea 30,528
307 gl2tol & 61,056 29,642 31,414
Il 30,528
s 30,528
02 QB AANSEER 61,056 29,642 31,414
Ol H=HSXEA ol2t|
2,544,000 ~2E* 1204 61,056
Jl 30,528
s 30,528
2z =2 KA 101,224 64,597 36,627
307 elztol & 101,224 64,597 36,627
02 2B YA AR & 5,500 5,500 0
ONOJOl MBUSKEA =2l MH|(2EE
Jtdl) 350,000& x2H*13] 700
Ol MENSA=A AHl2a
200,000 x2E 1200 & 4,800
03 2IAHHEE2SHIEX 84,724 51,097 33,627
OZMHMS3 AMR2E NB(MRBS, =
AL EH 8) 10,000,000& * 13l 10,000
OTAUMF 2L2E X (MR=2E)
41,097,000& *1& 41,097
OHMeIMF2 dd2xele X2
33,627,000& 1 33,627
11,000 8,000 3,000

e
HSHAL & 29 S EH0I

50,0003 »3&H »202 3,000

0 0.

OZOQAS 2ASHA 00l IHE o1& &
SR =8| 250,000 x2E 103 5,000
OHeIM=s adst N2
3,000,000& %12 3,000
StES AXXZY XA 67,000 67,000 0
307 212t01d 67,000 67,000
02 QI HAANGEE X 67,000 67,000
OStESAZXZHE(HUA) 24 2E2 X
el 25,000,000 13 25,000
OstEsAZXZYE(FC)2Hl RE23 X2
42,000,000& %12 42,000
24U 7AE AXXSEH KIE 189,600 200,000 210,400
307 212t01™ 189,600 200,000 210,400
02 QIHHAAEE X 189,600 200,000 210,400
Ozl |RAY AZ=3Y 2435t K&
50,000,000&+12& 50,000
OZAZEC U-15 d== 54 XI&
100,000,000& 12 & 100,000

OZEZHIC U-15 d==CEt =4 AUHE XA
3,300,000& 1242 39,600
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900,000 x2JH A~ 1,800
~MAXC|RE AT2Z] WH(FE, CHa
400,000 & *5H A~ 2,000
-SER2EH JIZS AMHHRY
150,000& * 10JH &~ 1,500
~HARLC|PE 2 DE L
6,000,000& *1CH 6,000
-HLAE xHS 242 M 2
1,000,000 *5JH A~ 5,000
-HEs2 THS 242 A7
200, 000& *25JH 2~ 5,000
~MALC|P2E 2SS e 2
300 +8,250m* x 1D 2 2,475
gmes 22 U KX
1,000,000 *1CH 1,000
206 M=H| 261,678 60,678 201,000
01 =8I 261,678 60,678 201,000
OFAXC|RE 22| 53,178
-E3 YH|ME BAE 8 &0 (I, LA
o)1l 15,0002 *300 m* *3JH 2 13,500
=1 2HH|AE SAMDCH HIEAH(YGEE, CHat
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